Reg: Electron Configuration Practice #1 Name:

Label the s,p,d,f sections of the periodic table:

Sketch the sublevels: ,
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Continue writing in the electron configuration pattern in the following blanks:
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Write the electron configuration:

Helium: |5~ Beryllium: __| =25
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Nitrogen: [He_] &S"&P 3 Lithium: L/:H-ej 2s'

Summarize what the following scientists are known for:
1) Plank:_eDey,_is quantized (€~ 19 limbed “+ certain €h€m3 leel S & PoSitans)

2) Heisenberg: ﬁﬁ&_@l%_w = DoSrhU\ © Ve\hcrhj gfr\ﬂ\e etecton (annet bame
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3) What was wrong with Bohr's model of the atom?
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4) What model of the atom do we use today? _ (3Variivn M thani (ol Mode)

5) How is our current model of the atom different from Bohr's model?
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6) Draw the order of the electromagnetic spectrum from longest to shortest wavelength:
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